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1. 'X ∼ N(µ, σ2), Í�µ ∈ R, σ > 0�

(i) �OE((X − µ)2)�

(ii) 'µ = 2, σ2 = 16��OP (−3.11 < X < 4)�

(iii) 'µ = 3, σ2 = 4�	P (|X − 3| ≤ a) = 0.9, �Oa�

2. 'XbE(λ)5µ��Y = [X], Í�[·]�t�JóÐó��O(i)Y�5µ, ¼

�Yb£×ð�5µ, ¬��¢ó, (ii)E(Y ), (iii)P (Y ≤ 2)�

3. 'X ∼ P (λ), Í�λ > 0�

(i) �OE(1/(1 + X))�

(ii) �Oφ(s) = E(e−sX), s ≥ 0�

(iii) ¿à(ii), �OE(X)CE(X2)�

4. 'X�p.d.f.
 1√
2πx

e−(log x)2/2, x > 0�

(i) �J E(Xr) = er2/2, r = 0, 1, 2, . . .�(105)

(ii) ¿à(i)�OV ar(X)�(55)

5. 'XbU(−π
2
, π

2
)5µ��Y = tan X��O(i)E(X), (ii)V ar(X), (iii)Y�5µ,

(iv)E(Y )�

6. 'X ∼ Γ(α, β), Í�α, β > 0��Y = 1/X�

(i) �OE(Xk), ¬¼�¸E(Xk)D3�kÝP��

(ii) ��Y�p.d.f.

(iii) ¿à(i)O�E(Y r), ¬¼�¸E(Y r)D3�rÝP��

(iv) ¼�¸V ar(Y )D3�α, βÝP�, ��h`�V ar(Y ), ¬'°;��


